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EF¥F—U5X ZRILAOSR
Pos(| IT>h5> b4 | Rdl | Rd2 | Rd3 | Rd4 | Rd5 | Total Pos| T>MNS5> b4 | Rdl | Rd2 | Rd3 | Rd4 | Rd5 | Total
1 |BEEHA 20 20 1 | 5B 20 20
2 |lCU 15 15 2 | LHEMH 15 15
3 |AY 12 12 3 |1/ veEF 12 12
4 |I<n 10 10 4 |kei 10 10
5 |LIFeD 8 8 5 |SEKME 8 8
6 |Ek—%= 6 6 6 [KR&E = 6 6
7 0 7 0
8 0 8 0
9 0 9 0
10 0 10 0
11 0 11 0
12 0 12 0
13 0 13 0
14 0 14 0
15 0 ZRIL BUSR
16 0 Pos| T>MS5> b4 | Rdl | Rd2 | Rd3 | Rd4 | Rd5 | Total
17 0 1 |ERLCHE 20 20
F L>ZH~CARTS R 2 |[EFEom 15 15
Pos| T~ h5>bM4a| Rdl | Rd2 | Rd3 | Rd4 | Rd5 | Total 3 |[KEHRE 12 12
1 [AKiHEHR 20 20 4 |REBfE— 10 10
2 |&BFA 15 15 5 [H#SER 8 8
3 |FrEA 12 12 6 |EREFFIA 6 6
4 |DABYPA 10 10 7 0
5 |DkR> 8 8 8 0
6 |5 6 6 9 0
0 10 0
FrL>TOSX 11 0
Pos(| T~ h5>bM4a| Rdl | Rd2 | Rd3 | Rd4 | Rd5 | Total 12 0
1 |7V 20 20 ITHFR)—k
2 |EZRE 15 15 Pos| I>M5> b4 | Rdl | Rd2 | Rd3 | Rd4 | Rd5 | Total
3 |BEEF 12 12 1 |B6<H 20 20
4 |RhcE 10 10 2 ([RREWN 15 15
5 |&EDn 8 8 3 |PFEVB 12 12
6 [AD+ 6 6 4 |(F! 10 10
7 0 5 [AATR 8 8
8 0 6 |EO> 6 6
9 0 7 0
10 0 8 0
11 0 9 0
K-CARIUSX 10 0
Pos| I>h5> b4 | Rdl | Rd2 | Rd3 | Rd4 | Rd5 | Total 11 0
N 20 20| [ 12 0
2 [E5_=5 15 15 13 0
3 |K 12 12 14 0
4 ((C~v7> 10 10 15 0
5 |71—>2 8 8
6 |PESA 6 6
7 0
8 0
9 0
10 0




